{(0,0),32)
[no pt]

internal node
can’t have pt

N\

Bad bounding box
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{(0,0),8) {(0,8),8) {(8,0),8) {(8,10),8)
(5,3) (20,47) (3,12) (12,12)

N

Pt in wrong quadrant

{(0,4),4)
[no pt]

f wrong location

Pt in completely

{(0,6),2)
(1,7)




{(0,0),32)
[no pt]

Bounding box fixed

{(0,0),8)
[no pt]

{(0,8),8) {(8,8),8)
(3,12) (12,12)

(3,12) moved from
quad lll to Il, glll rm’ed

{0,4)4) | | 1(4,0)4) (20, 47) removed
[no pt] (5,3) ’

jl (5,5) moved from

int. node to new leaf
{(0,6),2)
(1,7)




New root:

Root w/only 1 child

{(0,0),16)
removed

(no pt)

{(0,0),8) {(0,8),8) {(8,8),8)
[no pt] (3,22) (12,12)

1(0,4),4) {(4,0),4)
(1,7) (5,3)

Only child leaf (1,7)
moved up to parent
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